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Answer the Questions from any one Option.

OPTION-A
Paper : COM-GE-5016
(Principles of Microeconomics)

OPTION-B
Paper : COM-GE-5026
( Business Economics)

Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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_OPTION-A
Paper : COM-GE-5016
( Principles of Microeconomics)
1. (A) Answer the following : | 1x5=5
were fAaraRe T fm ¢

(i) Define indifference curve.

s @9 s a3

(i) What is consumer’s equilibrium ?

TATSIGIT SN W &F2

(fii) Define marginal product.
eNfs Seolias kel it |

(iv) Give an example of sunk cost.

o|@ TR GBI Targe |

(vy What do you mean by price

discrimination ?

7 e I & e
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(B) Answer the foilowing as directed :
1x5=5

Wﬁmﬁaﬁuﬁmﬁwmm

(i) When total revenue is maximum,
marginal revenue is zero.

(True/ False)
et 3o i T 27, cofen 2
I A | (@) o)

(i) Higher the indifference curve
, is the level of satisfaction.
(Fill in the blank)

THT AR @R e ok
) (7 312 27 39)

(iii) Production function shows the
relationship between cost and
output/cost and input/input and
output.

(Choose the correct option)

Teolve T JT TF B /T SIS
oM /AR S TesARe TS
TN (TR

(&% [Rews! A #1)
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(iv) An oligopoly is a market where

there are _____ sellers.
(Fill in the blank)

FERITS T GEEA QI IGE TS
(3 el AT |
(e 3% 73 )

(v) A firm faces a perfectly elastic
demand curve, if MC=MR/

MR = AR/AR = MC.
(Choose the correct option)

G2 Test 2SIt = e oAt
@I AR W, @A MC = MR/
MR = AR/AR = MC |

(w% RFECH! 57 391)

2. Answer the following in brief : (within 40
words) 2x5=10

oo WAART 55 Bed 7l ¢ (80bt *131 feede)

(a) Show that average revenue is equal to
price.

&R (91T S OIF W 7 23 |

(b) Distinguish between money cost and
real cost.

T4 TN O 4TS T Ae[ AL i |
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() What is expansion path ?
TR oY e

(d) State the meaning of price effect.
w9 o] udf fora|

(e) Write the differences between market
price and normal price.

IER 7E OF oIS 799 e A1y for |

3. Answer any four from the following :
5x4=20

wore AR o[ R sifbe el fo ¢

fa) Write the determinants of price
elasticity of demand.

7 oo Rdemmg o

(b) Briefly explain the types of internal and
external economies of scale.
2 TR IR Sefs wiF AT
SFFITZ G oIl |

(c) Explain the relationship between
average cost and marginal cost with
the help of a diagram.
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/7

g W % 2 T AE ool Bl
IS Pl F

(d) Measure producer surplus at the
industry level under perfect
‘competition.

ool aferaferER IS Soifie ¥1
Beoiwed Tg@ A 1

(e) Write a short note on natural monopoly.

wmaw@mw«ewmwc‘@m
ferar |

() Write a short note on the relationship
between indeterminateness of demand
and oligopoly.

SiRmR SRFEe W% FEREe I T
esfFe «bt 53 (B Tt |

4. Answer the following questions : 10x4=40
o A Bes v ¢ :

(a) Explain the relationship between price
of a commodity and its quantity
demanded. What are the other factors
influencing demand for a commodity ?

7+3=10
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mﬁmwmm&mwﬁmﬁwm
TGN | AN BIF 51T 2roR coiranm oy
oM & e

OR / 5ot

Explain consumer’s equilibrium with
the help of indifference curve approach.
10

ﬁ«wmmww@mw
T 4 |

(b) Discuss the law of variable proportion.
In which stage output is decided ?
7+3=10

AT Sl RfF! S <41
(FIID! BT Teolves BIa TR 02

OR / g2t

How is LAC curve derived from a set of
short-run AC curves? Why is LAC
curve U-shaped ? 6+4=10

ZTIIE T JN @R (9N OR 51 @R
TIRIET 21G 7 (I Rl 31 2 2 NAH
TC IV @ Y U’ wpfer mme
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Compare the equilibrium price and
output of a monopolistic and a perfectly
competitive firm. 10

mmmﬁaﬁémwmﬁmmw
2GR iR ST TS S TeAWE geiel

Bl
OR / 94!

Exiain Walrasian and Marshalian
stbility analysis. Mention the
dferences between these two
pproaches. 7+3=10

QTS S C5ei Aot FRUsmeR 4IRelteo i<
1 | A Aiel e AR T

Illustrate how a firm in monopolistic
competition reaches its equilibrium in
the short run. Does a firm in
equilibrium in monopolistic competition
always make supernormal profit?
7+3=10

iR fraPeRE IS @3 Sl



OR / g3t

Write the main features of oligopoly.
Explain the price-output determination
Process under price leadership in
oligopoly. ' 3+7=10

mwamkmmnm
TEIR T (TP 7RIS 79 W16 el sAfIwret
Fdiza SN 1T 541 |
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OPTION-B
Paper : COM-GE-5026
(Business Economics)

1. Answer the following questions: 1x10=10

weTe fral emirdRT Tes fra

(a) Define Gross National Product (GNP)
at factor cost.

IS G YP AFIW e e fam |

(b) Mention one factor affecting the
individual demand for a commodity.

9o ¥R FfEare sifEnie eiiie s o[ bt
TAMH B 1|

() What is demand function ?
RIEGRCCRSE

(d) What is opportunity cost ?
e 7 e

(e) What do you mean by utility in
Economics ?

qYAIeS Soicaifet I & et
() Mention one component of a budget.

S0 9T G5 Toii TER 9|
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(g) Write on utility of demand forccastmg.
vz sffferm @by Sewirer et

(h) What is cost function >,
WA T 2

(i) What is monopoly market ?

GIEOR TR Fe

() Define profit.
PR el 3

2. Answer in brief of the followmg questions :
2x5=10

wee A ed 53 Oes A

(a) What is consumption function ?

TG T 2

(b)) Mention two sources of Economic
problem.

wifeRs TR IR I 7o B 3 e

(c) What is normal price ?
Freike W o & @
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(d) Define price elasticity of demand.
vifEwe 7 fegomer ke |

(e) Define production possibility curve.
T FYIRA (I e |

3. Answer any four of the following questions :
5x4=20

TS WAl R bifabt o9 Beq fx ¢

(a) Explain the characteristics of Business
Economics.

TP SR RBPRE 1t 591

(b) What is Economies of scale ? Mention
its types.
2= @eﬂmﬁwﬁm%?mﬁw
& o

(c) What are the features of Monopolistic
Competition ?

%Wmﬁ%mﬁmwwﬁﬁmWﬁs
?

[d) What is Cross Elasticity of Demand ?

WW@WWW%@?
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(e) What is investment function ? Mention
its factors.

R wom e Rifens wow (T =
Tz & 1

() Mention the assumptions of the Law of
Diminishing Returns.

TN eriiv Rt SfeuReTE S 34 |
4. Answer any four of the following questions :
10x4=40

weTs MAARR e sifaor e Oes fm 2

(a) What is National Income ? Discuss its

importance in Business Economics.
2+8=10

SIS o &2 I wLRIfee S SRR
&Y D |

(b) Explain the Laws of Returns to Scale
with the help of diagrams.

Rapr Seolv 2SR T R 3 411

(c) Discuss the Modern Approach of cost.
T AT TGO ST T
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(g)

(h)

tures. Explain : B 10
?r?alysis under oligopoly- 2+3

st
wm%jﬁmﬁm s R g =

Discuss Ricardian theory of rent.
Mention is limitations. 7+3=10

I3 ATl TGL! WA B4 | B
Aoz S 34|

What are the features of perfect
competition ? How price and output is
determined under perfect competition ?

3+7=10

oj¢f =St Tees AHHRR & & 2 9 TR
T i ST (FAE MaEe I W2

How can LAC curve be derived from
the SAC curve? Why is LAC curve
U-shaped ? 5+5=10

4 (Sem-5/CBCS) COMGE 1/2/G 14



TN 1T I @A SR @ AL
T 9 ({1 (LAC) Tfem 2R 2 TIEti e
TJT @ TG U’ Al e
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